
 

 

 

 

 

 

 

 

Sir Gawain and the Green Knight 

 

Composition Book Task  

  

 

Don’t forget to update your comp book’s Table of Contents, 

and include all three of the following responses on their own 

fresh page. As always, protect your work from others’ eyes. 

 

3a. Provide an example of a sentence from Part 1 that creates tension in the plot. 

▪ Copy down the sentence from capital letter to period; enclose it inside 

quotation marks and cite it. After the quotation, explain how the sentence 

creates tension.) 

 

3b. Select a passage from Part 2 in which the poet's decision to use a slow pace in 

telling the story affects the meaning of the text. 

▪ Summarize the passage in one sentence. In another, explain how the slow 

place affects the meaning of the text. 

 

3c. Select a passage from Part 3 in which the author creates a complex tone (more 

than one attitude at the same time). 

▪ Summarize the passage in one sentence. In another, identify the tone. In a 

third sentence, explain how the author creates that tone. 

 

 

 


